10 BEDHRFHABRRUBREDINRL
(1) FmFAHBROERIANR

ORES 1=
. # B E1R | Eok | B3R |4 @

<9 nwn | IR o g | mm | s
REREE (FHE (FE) )
o)
KGR (FHH (TH) )
(AR E AR AR 5/2 | 5/2~6/6 6/19 | 7/31 | 8/21 | 9/6
RERYE (LA
RELREE (B
T )
BB (T8 [(TRERE ] 1 | 11~98| - — — ]
EEHE (B DT AR
B EAREE (HBH (TR0 )
B - BARZEEE (AER) 8/1 8/1~9/5| 9/25 10/30 11/19 1277
B+
(e
RECRE (EHH (75 )
(4647]
REIE (FEE (75 ) 9/15~ )
(&3] (F3E) Sl TV B e 12721
A )
(EHE)
78 1 BRAEHABE (BB (5 ]
B) ) (B

5/29 6/10 -

7 BBEE KERIIRE - R -
B (EEE (TR ) L, |
7 BBSRE KT ELE - BT AR 5/16
8 (EE+) ) ) ) )
7 B BRE EEIRE - FR
B (L)
4F 1 HEREHAEE (F¥%E (7] 11/1 11/1~ 12/10 1/22 - 2/3
B) ) K4 ACHEEAE. EEESE, 11/22

FARE R, Fir5iE, RE BVWEX
B, HwElau > AV ABREGEX R
=)

4R 1 BERAEHMNEE (EBH (18




Ab) ) K43 B(HutstEALR)

4 7 1 BERAFHNBE (REL) Ko
C (CEHREH)

4 7 1 BERAEHMNBE (GEM) KXo
D (EREER - TLHRER)

2 REREREHMNEE - ERRTERR
8 (B (I7E0 )

8 (FBi (T80 )

@ kR
. ik | BE | g | Dao | BA | S
w0 | T | TEF | | ek
j(%zﬁﬁfg (FHM (T80 ) 158 131 82.9% 43 17 1.1
GiE:2)
KAEETRRE (FHB (50 ) . ]
G g o |00 0% 2 0
REXREE (LA 4 4 100. 0% 3 2 2.0
REXREE (BEKH) 3 3 100. 0% 3 1 3.0
W (FB)  (FHERERAL] 0 - - - - -
WEW (FR) DKEESRCREME] | 51 | 44 | 86.3% | 6 0 -
Bitt - SEASTEEE (WEM (FBO ) | 26 | 24 | 92.3% | 5 | 4.8
R - EARZEREE (2ARER) 3 3 100. 0% 3 1 3.0
REL 1 7 100. 0% 6 3 2.3
(R A AT 8 6 75.0% 3 1 6.0
KAEAARE (WHW (780 ) .
o) 61 40 67.2% 11 5 8.0
KAEETREE (FHB (50 ) .
(BentoBRAIR]  (FE5E) S I R b 2o
KAEATRE () .
(EEts) 2 2 100. 0% 2 1 2.0
7A 1 BRAEGEAEBR (R (7 . ]
B) ) (WiBiE) ’ 3o 100.0%) ] !
T ASBRAEERA - W A P . | 20

7T AERERMEHNEE - RRIERRE
8 (RE1)

7T AEFEMMEHNEE - BRI
B (fR{EE)




481 HREATHMAEE (F%B (17
B) ) Ko AGHstENLR. ERESE.
FARETHR. BiFEE R ELhVEX
B, HElaO U A )b A RRYE 5 R
%)

19 19 100. 0% 15 14

1.4

471 BRAFHAEE (FHEB (&
fb) ) K4 BOusE/EER)

100.0% 2 2

1.0

4 A 1 HERAEHAEBE (5L BH
C (ZEERER)

100. 0% 6 5

1.4

4 A 1 HIRAAEARE (G#EE) X2
D (EBHEER - ZLERER)

100. 0% 1 1

1.0

2 AESEFENMEMMNRE - BRRAERR
8 (E%E (750 )

100. 0% 4 4

1.0

(2)  EEERADINR

e R fe_=
& 8 A ERRSHE RS, NSRS
BEEER 2N EEXE

X REFEELRABE (7VE1 L) ODABIZEAEEA,

B) SEFEERABEDZEZINR
ERAE
44 N

XoOBRABUZIE. N=FE A LASFHEREEABERREATEY XA




